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QUESTION 1

Errors are being thrown, but they are beyond job boundaries for a Service Resource. Which activity should you use to
catch these errors? 

A. Rethrow 

B. Generate Error 

C. OnError 

D. Catch 

Correct Answer: C 

 

 

QUESTION 2

You wish to insert an activity into an ActiveMatrix BusinessWorks process. Which TIBCO Designer menu should you
use? 

A. Project 

B. Resources 

C. Edit 

D. Palettes 

Correct Answer: B 

 

QUESTION 3

Which setting is used to specify that a process instance loaded into memory must remain there until it completes? 

A. Flow Limit 

B. Max Jobs 

C. Step Count 

D. Activation Limit 

E. Thread Count 

Correct Answer: D 

 

QUESTION 4
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You wish to allow a message selector to be changed at runtime. Which JMS activity should you use? 

A. Get JMS Queue Message 

B. JMS Topic Publisher 

C. JMS Queue Sender 

D. Reply To JMS Message 

Correct Answer: A 

 

QUESTION 5

A process must handle over one hundred thousand records in a file, one at a time. Then a service must return each
record as either found or not found. Lastly, the process must record how many records were found and not found.
Which type of variable is most appropriate for this implementation? 

A. Job Shared Variable 

B. Global Variable 

C. Process Variable 

D. Shared Variable 

Correct Answer: C 
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